SwS Algebra 2

Car Car


Now we have a new car and a new situation. In this case, the new car is slower than the PT Cruiser, but it is still a constant motion car. It moves at 25 cm/sec.

We will be moving AWAY from the motion probe, starting at one meter. The finish line is at 7 meters.

1. Create a set of data point (Distance vs. Time) from 0 seconds to the finish line for the new car. Give at least 7 pairs of points.

2. Create a Scatter Plot of this data.

3. Get an equation that represents the motion of this new car from 1 meter to the finish line.

4. Place an equation for the PT Cruiser in Y2.

5. Place a finish line on the graph, and have the race with Dueling Bubble Babies with NO tail. Show Mr. Young.

6. Adjust the starting point so that the new car ties the PT Cruiser. Do this in Y1 or Y2.

7. Now adjust the equation(s) so that the new car just barely loses.

Document all of these steps and submit with an ASSProg.
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